Activity 30 Extra Practice

Name: Date
In questions 1-4, find the exact 5) The height of aitbrgl%lggram is
perimeter and area of each three times its base. If the area of the
parallelogram. Ez(rjailltzlcr:gli'am.is 300 square inches,
Y — P‘—2(Q+w> A =bh h=23s)
T P25 3004b)(3) [l 30 inches |

o T P=2(15) 300 = 3b"

A=0w 16=h

6) A circle with radius 4 is inscribed in
a square. What is the area of the
square?

20in.
P=20+10+t2040 A=bh

P= 60 in. A=(20)(% hebes
A= (GO I‘Y\Z 7) The height of a parallelogram is 5
. feet more than its base. If the area of

the parallelogram is 204 square feet,
find its base and height.

FAr=bh b+i7=0  b-12=0
204 (6S) bt
204 = b*+5b h=(2+¢5

Q= b*+5b 204 :
=174+,
0 =) b-12)

8) Find the area of the triangle.

i 28 m ﬂ:%bk
'.n,_.
| A=1(2u)23)

A=2%12 in®

Y=224244+22+26




Activity 30 Extra Practice
Name:

9) Find the perimeter and area of the
shaded triangle. Round to the nearest
tenth, if necessary.

o =1 Fene”
< s c*=52]
s 17 In e -

..’:_._ : \ = ,r
15in, 40in. SR
= U+4o+521  A=Lbh

pP= WZ\Bfnj A= 00D

Eﬁ’ZZO in® i

10) Use Herron’s Formula to find the
area of the triangle.
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11) Use Herron’s Formula to find the
exact area of an isosceles triangle with
a base that is 8 feet long and legs that
are each 5 feet long.

9

D R REERE

° A = Ja(-9)(a-5)E-5)
H—: N4 (\)(Ul /’<_\'\ ,;
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A= 4
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Date:

12) The hase and height of a
triangular-shaped countertop have a
6:5 ratio. Given that the area of the
countertop is 450 in?, what are the
measures of the base and height?

A =5bh
UBo = £(6x)(5%)
450 = 5 (30x2)

bace = G Y
%ﬂﬁ\‘gh'\‘ =bx

)_\L 53¢ in. |

QCO =30xr*?
30 = x* T
=20 =x

13) Find the area of the triangle.
Round to the nearest tenth.

¢ A =2 ()ON(snHe)
8 [Ax>2447 |

7ft

14) A triangle has coordinates A(-8,5),
B(4,5), and C(—1,—4). What is the area
of the triangle?
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15) The base of a ri;mg‘]']e is four times
its height. If the area of the triangle is
800 square millimeters, find its base.

A= Lbh o
%00 =L )h) L1C)
3@0=2&2X¢>EQEE§§E£1
300 =h

20 =h

16) Find the area of the trapezoid.

e SR
-

ﬂ = é‘_(b. +b L)(h)
A=L (12+24)(2%)
A=1 (30)(2%)

A=50%ud?
17) In a trapezoid, the height is 10

feet and the length of one of its bases
is 15 feet. If the area of the trapezoid
is 190 ft2, what is the length of the

other base'P
b =23¢4

A=LCb, b))
190=1(b,+15)(10)

190 = 5o, +15)
23 =b,+)5
23 =),

18) The area of a rhombus is 84 in®
and one diagonal is 12 inches. Find the
length of the other diagonal.

f=td.d,
34 =L(2)(x)
B4 =6x
4= x

\L* fV\CL\&S

Date:

19) Find the area of the kite.

H:zldda
=2 (15)(7)

6cm

2cm

20) In a rhombus, the sides are 8 in.
and one diagonal is 8 in. Find the area.

x*=g=Y4 "

A=1R&)(s{3) Xd -
U% 22(3 in’ -

21) Find the area of the quadrilateral
with the following vertices:

A(-8,6), B(-5,8), C(—2,6), and D(-5,0)
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